
Real Numbers
Ex. 1.4
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Esc . 1.4
1- ① 3¥25

3125 = Ss

or 3125=20×55

Since factors of rq i - e. 3125 are of the
form 2- ✗ Sm

i.31,3-5 will have a terminating decimal .

④ ¥

8 = 23

or 8=23×50

Since factors of rg i - e . 8 are of the

form 2h ✗ Sm

:
. ¥ will have a terminating decimal .

④ ¥5

455=5×7×13

Since the factors of q, i - e. 45s are not of
the form 2

"

✗ Sm

:
. 6¥ will have a non- terminating

reheating decimal .

④ 15=3-201600

320=26×5

Since the factors of q i - e. 320 are of
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the form 2
"

✗5m .

i. 11%-0 will have a terminating decimal .

① 23%3

343 = 73

Since the factors of q, are not of the form
2
"

✗ 5m

.

'

. }⇒ will have a non- terminating repeating

decimal .

④21
2352

Since the factors of vq, are of the form
2h × 5m .

i. 223¥ will
have a terminating decimal .

④¥I
Since the factors of q are not of the form
2h ✗Sm

i. zt?⇒s will have a non - terminating

repeating decimal .
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r ⇒s = 2-5×25
Since the factors of q are of the form
2h ✗ Sm .

i. ¥ will have a terminating decimal
.

④ %⇒¥◦ = ¥ = ¥5
Since the factors of air are of the form
2h ✗Smi

. 3¥ will
have a terminating decimal .

④727¥50 =¥0 = ¥2,5
Since the factors of vq are not of the form
2h ☒ 5m .

i.7¥ will have a non- terminating repeating

decimal .

2031-12-5 = 1¥ ✗2¥ = ¥6 = 0-0041-6

④⇒ = 127-3×33-3 = 17×121 = 2¥§- = 2-1-25

103

④ É¥}zo = ¥0 = ¥5 ×?¥ = 3×1%-21 = 9,3¥ = 0-009375
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④ Z§g. ✗§ = ¥§- = 0.115

④ ¥52s = Is ✗ 2- = = 0-4

④ 355=5,75 =# =
07

310 43-123456789 is ice rational number as
it is a terminating decimal.

The prime factors of uq are of the form
2h ✗ 5m .

④ 0120120012000120000 - - - - is von irrational number

as it is a non - terminating non- reheating
decimal .

⑤ 43-12345677 is a rational number as
it is a non - terminating reheating decimal.
The thrive factors of vq are not of the
form 2

"

✗ Sm .
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